ana> BREVINI

Motion Systems

MC HYDRAULIC POWER PACK

Technical Catalogue

January

2018

web edition







Table of contents @ BREVINI

Motion Systems

INErOAUCTION ... snnaes 2
Endhead configuration ... ssessssses 3
Power pack SECLIONS ... sessessessesessessessesssenses 5
SeleCtion COUE ...t 6
Endhead overall dimensions ... 9
Cavities dIMENSIONS ..o sssssesnens 10

SELECTIONS FOR “MCA-MCB” POWER PACK ENDHEAD

Endhead ChOiCe ...t 1"
SeCt. I - MC Cavity T ......cocrercccrcreesresessess s s ssssse e 12
Sect. | - MC Cavity TR ... s ssssssessesessssseans 13
Sect. I - IMC Cavity 2 ... ss s sssssseasean 14
Sect. I - MCA Cavity 3 .......oeceereressresscsssssse e ssesssssssessssssssssssesssssssesseans 17
Sect. Il - MCB Cavity 3 .......ocooererereresessesesese e sssssssssessssssssssssesssssssssseans 20
Sect. I - MCA CaVity 4 ........ooeeeeeereceeeeeesesese e ssessessssssesesssssssaseans 21
SeCt Il - MC POrtS P-T ... sssssese e senns 22

SELECTIONS FOR ALL POWER PACK ENDHEADS
Sect. [l - PUMPS ... sssssssssssssssssssssans 23

Sect. IV - Tanks / Sect. V - Tubes Kit ... 25
SECL. VI - DC MOLOIS ......coeeeeceeeeeeesesessesse e sessessssse e ssssssssssssessessesns Y|
SECL VI - AC MOLOTS .....ceeeeeeeseeeesesesessessese s sssssessssssssssssessssssssaseans 47
Sect. VII - Transmission kit DC motors ...........cocoeeecrenennensesessessessenenens 53
Sect. VIII - Blocks and CETOP valves ...........cccocoreemeennesesessesseessessessesseens 55
SECL. IX - ACCESSOTIES ..o sses e seens 59
EXQMPIES ...t s 60

© 2018 Dana Brevini S.p.A. all rights reserved. Hydr-App, SAM Hydraulik, Aron, Brevini Hydraulics, BPE Electronics, VPS Brevini, OT Qiltechnology, logos are
trademarks or are registered trademarks of Dana Brevini S.p.A. or other companies Dana in Italy and other countries.

The technical features supplied in this catalogue are non binding and no legal action can be taken against such material. Dana Brevini will not be held responsi-
ble for information and specifications which may lead to error or incorrect interpretations. Given the continuous technical research aimed at improved technical
features of our products, Dana Brevini reserves the right to make change that are considered appropriate without any prior notice. This catalogue cannot be
reproduced (in while or in part) without the prior written consent of Dana Brevini. This catalogue supersedes all previous ones.

Use of the products in this catalogue must comply with the operating limits given in the technical specifications. The type of application and operating condi-
tions must be assessed as normal or in malfunction in order to avoid endangering the safety of people and/or items.

IE/MC-INTRO/00-2017 1



Introduction

BREVINI

Motion Systems

DANA

The MC series power pack is an easy-to-assemble, compact, electro-hydrau-
lic unit. With its versatility and modularity, it offers many combinations of
hydraulic circuits to suit various requirements of plant design. This catalogue
has been written to help the user choose the components for the power pack
required for the specific application. However, the catalogue cannot foresee
all the combinations that may be executed, so in some cases it may be neces-
sary to consult our commercial engineering department.

For applications with very complex circuits, standard modular blocks for Cetop
valves and other special blocks can be installed on the power pack, or blocks
built to order can be included.

A few applications:

e Fork lifts

e |ifting platforms and beds

e Automotive lifts

e (Cranes for small trucks

e Snowplows

e Industrial automation (machine tools, food industry, textile industry)

You can chose from a wide variety of components with the following speci-
fications:

e (ear pumps - Group 0.5/ 1 - from 0.25t0 9.8 cc.

e DC motors, 12/24 V, light-duty service, from 0.35 to 3 Kw

e Single and triple-phase motors with power ratings of up to 4 Kw - in a
standard version or built to the customer's specifications (with minimum
overall dimensions)

e Tanks in sheet steel with capacities of up to 25 litres

e Tanks in plastic with capacities of up to 10 litres

A fundamental part of the power pack is the endhead, which is made of die-cast
aluminum alloy. The parts and dimensions of this component are shown below.

Operating limits
e Intermittent peak pressure: 290 bar (depending on pump type)
e Maximum flow rate: 20 I/min
e Maximum operating temperature:
80°C (with sheet steel tank)
70°C (with polyethylene tank)
60°C (with polypropylene tank)
e Mineral-based hydraulic fluid: 1SO 6743-4 (DIN 51524)
Minimum viscosity: 12 mm?/s
Maximum viscosity: 80 mm?/s
Maximum viscosity at start-up: 500 mm?%/s
e Minimum ambient temperature -15°C
e Maximum ambient temperature 40°C (with peaks of 50°C)
e The validation of the endhead follows a life-test with 210 bar pulsed pres-
sure repeated for 200.000 cycles

Operating pressure is controlled by the maximum pressure valve
and the type of pump used (in terms of performance) may be deter-
mined by the maximum pressure valve. Therefore, it is essential not
to change the maximum pressure valve. If neccessary, contact our
technical service department.

7NN

Installation

1) The power pack must be mounted using the M10 holes on the endhead.

2) The power pack must not come into contact with sheet metal, protective
guards or any parts that may vibrate and transmit noise.

3) The ports on the endhead have been identified by the letters A-B -C. The
hydraulic connection must be made with fittings with cylindrical thread
and with copper or rubber sealing gaskets (O-rings).

4) After the electrical connections have been made, check the direction of
motor rotation by executing short pulses of 1 second each (max.): the mo-
tor must turn anti-clockwise, as shown in the figure.

X
("on:

Ol

M10

The tank must be filled with new mineral-based, ISO 6743/4 fluid: it is impor-
tant to filter the fluid while filling the tank.

Symbols used in this catalog:

Important data/information

Mounting endhead side

Ground floor

Electrical connection boxes on AC motors

Poles and/or starting relays on DC motors

Fill plug with breather and level stick

Fill plug with breather

Standard plug (closed)

Standard oil fill plug

Fill plug with breather

Fill plug

Fill plug with check valve

Fill plug with back check

Drain plug with magnet

Plug (or level stick) with visual indicator

Drain plug

| 9®ee e e e e® MmN DB

Fields to be completed

IE/MC-INTRO/00-2017



Endhead configuration

BREVINI

Motion Systems

A Pipa

13CB_ c:h%gm

3FBC

-~ |3FD*

3LB

3HC

3TP

e
_E_I_ 3TN
-

3TQ

The possible configurations of the MC power pack are determined by the body machining.

3TS

ﬁ 3TR
B

5 A1-B1-C1-D1

_E_'”—

M18 x 1.5

Power pack endhead configuration

MCA

- —4

L IU]@HE] 2FAB

Flow control valve

2TA

2TC

21D

2TE

2TF

2TK

f] A-B
— [

o[ 5—5

m X

MCA flange allows the mounting of controls and flow regulators in the cavity 3 and fixeed setting flow control valve on cavity 4.

IE/MC-INTRO/00-2017



Endhead configuration <% BREVINI

Power pack endhead configuration

P MCB
P
A

=]

B 2DC*

] p—2
=0
g

2DD*

B =il an -

M18 x 1.5

L lﬂ]m}ﬂ
L m@@ 2FAB
=~ — 2TA
—

A1-B1-C1-D1 _@ 21C
& [ s,
A2-B2 L @ 21D
| : e
45 202 AT THDeme -
N 2TE
N 2TF
& fmn G
L ﬁ 2TK
h AB
— el 1]
g
[o[f5—=

L IR L A AR R e N RN i e 2

m X

The possible configurations of the MC power pack are determined by the body machining.
MCA flange allows the mounting of controls and flow regulators fixed setting in the cavity 3.

4 IE/MC-INTRO/00-2017



Power pack sections

BREVINI

Motion Systems

DANA

VIl (J-K-W)

mce@..

VI (T)

V(G)

IV (S)

With its great modularity, the MC series of power packs can create multiple
configurations which satisfy requirements in a wide range of applications.
To make it easier to choose components, the power pack is subdivided into
sections.

SECTION | - SERIE, FLANGE TYPE, VALVES ON CAVITY 1 AND 1R

MC Series Powerpacks are based on the Flange features.

The Flange is the core of the unit, on the flange are mounted all the valves,
the pump, the motor and the reservoir.

The MC Flange is available in several Versions (with different tooling options).
The Flange Version must be chosen depending on the type of Hydraulic Circuit
Layout required.

Together with the Flange Version, it is required to select the Valves to be
mounted in the Various Cavities.

1 (Main Pressure Relief Valve).

SECTION II - VALVES

Depending on the Type of Hydraulic Circuit Layout to be realized, it is required
to Select the Valves for each of the available Cavities.

In order to correctly build up the Ordering Code, it is required to use the fol-
lowing procedure.

Peripheral Cavities (it is mandatory to mention all the Cavities in Numeral
Order): starting from Cavity 2, mention all the Cavities and the Valves, Plugs
or Fittings to be mounted in said Cavity.

Internal Cavities, mention the Internal Cavities where a Valve (usually a Re-
turn Line Valve) is mounted.

Outputs, see description in the Table.

SECTION Ill - PUMPS
It is mandatory to mention this section, defined by the letter P.
Depending on the required features, select the pump from the table provided.

SECTION IV - TANKS
This section is defined by the letter S.

me) | §

Depending on the required features, select the reservoir from the list provided.
If no Reservoir is required, and also no Suction / Return Kit is required, please
omit this section.

If no Reservoir is required, but a Suction / Return Kit is required, please jump
to Section V (defined by letter G).

SECTION V - TUBES KIT (suction and return, only for tanks on the cata-
log)

This section is defined by the letter G.

In order to define this Section, please select the Reservoir Type anyways.

SECTION VI - MOTORS

This section is defined by the letter M.

Depending on the Type of Hydraulic Circuit Layout to be realized, it is required
to Select the Motor Type.

[f no Motor is required, and no Transmission Kit is required, please omit this section.
If no Motor is required, but a Transmission Kit is required, please jump to
Section VIl (defined by letter T).

SECTION VII - TRANSMISSION KIT (only for motors on the catalog)
This section is defined by the letter T.
Select the kit as per Table provided.

SECTION VIII - BLOCKS
This section it is not mandatory, depending on the type of auxiliary block re-
quired, the letter J, identifies blocks with interface for CETOP valves.

SECTION IX - ACCESSORIES

his section it is not mandatory, is defined by the letter R
Check the available options in the list provided.
Accessories must be listed in Alphabetical Order.

IE/MC-INTRO/00-2017



Selection code BREVINI

Motion Systems

SECTION | - SERIE, ENDHEAD, VALVES ON CAVITY 1 AND 1R

Power pack type
Endhead type

Thread ports
Pressure relief valve - Plug
Setting type (or plug features)
Special setting pressure relief valve (omit if not required)

SECTION Il - VALVES

Cavity 2

Type

Features
Cavity 3

Type

Features

Flow control valve can be combined with plug TC (only for MCB)
Cavity 4

Fitting on return (omit if not required)

Flow control valve (omit if not required)
Combination plugs for ports (ABC)
End section I

SECTION Il - PUMPS

Pump
Pump group
Performance level
Nominal displacement
Accessories (omit if not required)
End section IlI

3

6 IE/MC-INTRO/00-2017



Selection code BREVINI

Motion Systems

SECTION IV - TANKS /SECTION V - TUBES KIT

Section:
S = tank (with tubes kit) ;
G = only with tubes kit, without tank;
OMIT if without tank and without tubes kit
Capacity liters
Features (material and construction)
Mounting position:
H = horizontal;
V = vertical
Variants
00 = standard, no variant;
OMIT if with tubes kit (section “G")
Orientation
OMIT if with tubes kit in vertical mounting position (section “G")
End section IV and V

|*|**| * |(*)|**|/* |_

SECTION VI - MOTORS

DC motor
Voltage
Power / Size
Version
Accessories
0 = whitout accessories;
Orientation
End section VI

L] = [x=Jea] = e -

OR..

AC motor
Phases
Poles
Size
Power range
Version
Orientation

End section VI

(]« [ [=]=ler]-

IE/MC-INTRO/00-2017 1



Selection code

pana > BREVINI

Motion Systems

SECTION VII - TRANSMISSION KIT (only for motors on the catalog)

Transmission kit
Type

SECTION VIl - BLOCKS

End section VII

Specify the transmission kit whether you requested the joint and acces-
sories assembly (without motor).

Blocks
Mounting position
Accessory
Separation line

Block type
Accessory

Pressure relief valve setting on “A” line
Pressure relief valve setting on “B” line
CETOP valve

[ 9 1= w0 |-[**] 00y [()] ()] o2 |-

SECTION IX - ACCESSORIES

End section VIII

Accessories (optional)

o

First accessory
Second accessory

IE/MC-INTRO/00-2017



1 H oana > BREVINI
Endhead overall dimensions
Cavities on endhead: The number of cavities tooled identify the endhead type:
. Endhead type
Cavity Thread VP There are three types of cavities:
MCA | MCB . L )
- - Peripheral cavities, which can be accessed externally
G1/4 e °m - Return cavities, inside of the tank.
P G3/8" J o - Ports
Ports
T 7/16" 20UNF| .
9/16" 18UNF| e o
1 Peripheral M18x 1.5 o °
1R | Peripheral M16 x 1.5 ° °
Peripheral | 3/4" 16 UNF ° °
Peripheral M20 x 1.5 ° °(2) 82
4 Primary G3/8" R R s
return = ; i
Secondary 214 = )
5 return not thread ¢ ¢ g /Jﬁ*‘/ ® =
Press. relief @125 < '
S . .
valve return not thread POWER PACK FIXING SIDE
1) blocks interface . 118 . PUMP/TANK SIDE

2) end cavity tooled G3/8" for flow regulator VSC06
3) return from T (ex. blocks)

) L
y 2 15— y
@\\ 5= B $,/@
| =
=2 g
®

PORT SIDE
. ) Cavity 3 detail
FOACH(
GROOVE FOR TANK
SEALING GASKET T Y #) =
(0-RING, 3.53x110.72) - |E|
MCA
% c
42,50 2 - M6 HOLES (10) WITH CENTER

DISTANCE OF 101.5
20

MOTOR SIDE
RN

MCB

a

2110
©98.3
@80
@35
@27
@32

2121

WITH CENTER DISTANCE OF 91

N
LY
_@-
‘ \ [ |
4 HOLES 1/4-20 UNC (12)

f
4 HOLES M8

On the endhead are highlighted (P-T) ports. In the drawing are shown the common dimensions.

IE/MC-INTRO/00-2017 9



Cavities dimensions

BREVINI

Motion Systems

Cavity Thread Drawing
CN037004
© 242
2 | ‘ TG
; sl ®
8o
1 Peripheral M18x 1.5
37
16.5
29
37
10 CN041007
12
T1h
i
o i
3 ' _I o I
0 B | . TR
1R Peripheral M16x 1.5 = s
2,5
13
16
26
3A
w
=z
3 30
é
2 Peripheral 3/4 16 UNF é
1C
I I Bl
3 [ g — Q| g
MCA Peripheral M20 x 1.5 —
3
15
41.5
55.5
1P
20
|
i
2 i I
M:::B Peripheral M20 x 1.5 sl 17 TITE S 8
15
405 |10
55.5

10

IE/MC-INTRO/00-2017



Endhead choice

DANA

BREVINI

Motion Systems

Endhead type

Thread ports

me | * [ *

The machining of the cavity 3 and the P-T ports define the body type.

El Endhead type

* || Description

A For manual contrals, flow regulators, logic valves on cavity 3
(Old commercial description MC)

For flow regulator VSCO06 (3/8" BSP) on cavity 3

B (Old commercial description MS)

El Thread ports P-T"

. Ports thread Blocks
G1/4” G3/8" 9/16” 18 UNF 7/16” 20 UNF interface
0 YES YES
1 YES NO
2 YES NO
3 YES NO
Endhead codes
G1/4” G3/8" 7/16" 20 UNF 9/16” 18 UNF
MCA | 71013000.000 71013001.000 — 71013022.000
MCB 71013003.000 71013005.000 71013007.000 —

IE/MC-2/00-2017

"



Sect. | - MC Cavity 1

DANA

BREVINI

Motion Systems

Pressure relief valve - Plug

Setting type (or plug features)

*

[ mc

*

| * )

Special setting pressure relief valve (omit if not required)

Pressure | STD setting | (..) Special . .
* *
(bar) (bar) setting (bar) Setting type Code Symbol Drawing
. 21000000.000
1 - Detachable closing 460309100
E 35+90 50 - . 21000000.000
2 (5to 5) Non removable closing (1) + 60309200
3 Handwheel 21000003.000
. 21000001.000
1 S Detachable closing + 60309100
F 75 =190 150 N . 21000001.000
2 (5t0 ) Non removable closing (1) + 60309200
3 Handwheel 21000004.000
. 21000002.000
1 Detachable closing 460309100
G|, 160 - 290 180 e Non removable closing (7)| 2 200002-000
(100 10) 9714 60309200
3 Handwheel 21000005.000
1= Supplied assembled. Unassembled, see accessories page 59
* | * ||Description Code Symbol Drawing
T | 1 ||Closed plug 20001600 -+ @[[u
12 IE/MC-2/012017



Sect. | - MC Cavity 1R gans> BREVINI

Motion Systems

—| Check valve - Plug

|I\/IC w | % | x| x (___)l * |
T P

| | - :

| |

i | c Pe—

3 i iz - W—mp To | "

i | &
Gy |

2 e

| |

| |

| 4 |

| |

e e N 1

I I
El Check valve
* || Description Code Symbol Drawing
A ||Standard 20020400

B ||Pre-setting 2 bar 20012000

. A
C || with outlet 3/8" BSP 20023900 —Qwi— To [ [

[*] Prug

Description Code Symbol Drawing

X || Plug to replace check valve 20006100 +4 m

IE/MC-2/01-2017 13



Sect. Il - MC Cavity 2 BREVINI

Motion Systems

Cavity
Type
Features
T P
i_ ] T _| 2CA
| | % e P
i | 1 2CB
3! ' 2 N |
| e % o
| |
i | 2DA L;J.E
1 1
i | af
| Z | — ,
| | 4§¢
L= — | nﬂ]@jﬂu
| | ; 2DD* =T
2FA*
7~ CEE
g 2HA

2TA 2TE

_E

2TC 2TF

G4

2TD 2TK

N—
G 1/4" G 1/4"

4 & &

14 [E/MC-2/012017



BREVINI

H DANA
Sect. Il - MIC Cavity 2
m Lever operated valve
* || Description Code Symbol Drawing
A || Without microswitch CMF04L001 % i —
B || With microswitch CMF04M001 g ﬂﬁ#:)

Piloted solenoid valves normally closed, without emergency (1)

Symbol

Drawing

** || Description Code (valve + connector)

AA || Voltage 12 Vdc CRP0418NCASL003 + V86050002
AB || Voltage 24 Vdc CRP0418NCASMO03 + V86050002
AC || Voltage 24 Vac 50 Hz CRP0418NCASAQ03 + V86050002
AD || Voltage 115 Vac 50 Hz CRP0418NCASJ003 + V86050002
AE || Voltage 230 Vac 50 Hz CRP0418NCASI003 + V86050002

.

Piloted solenoid valves normally open, with rotary emergency (1)

Symbol

Drawing

** || Description Code (valve + connector)
AA || Voltage 12 Vdc CRPO418NCAEL003 + V8605002
AB || Voltage 24 Vdc CRP0418NCAEMO03 + V86050002
AC || Voltage 24 Vac 50 Hz CRPO418NCAEAQ03 + V86050002
AD || Voltage 115 Vac 50 Hz CRPO418NCAEJ003 + 86050002
AE || Voltage 230 Vac 50 Hz CRPO418NCAEI003 + V86050002

Piloted solenoid valves normally open, with button emergency (1)

Symbol

Drawing

** || Description Code (valve + connector)

AA | [Voltage 12 Vdc CRPO418NAAELO03 + V86050002

AB | [ Voltage 24 Vdc CRP0418NAAEMO03 + V86050002
Voltage 24 Vac 50/60 Hz

AC || it eetioon CRPO418NAAE2003 + V86200002

ap || Voltage 115 Vac 50 - 120 Vac 60 Hz CRPO418NAAEZ003 + V86200002
(RAC with rectifier)

AE || Voltage 230 Vac 50 - 240 Vac 60 Hz CRPO418NAAEX003 + V86200002
(RAC with rectifier)

AF || Voltage 48 Vide CRPO418NAAENOO3 + V86050002

S

Direct operated solenoid valve normally closed, with button emergency (1)

** || Description Code (valve + connector) Symbol Drawing
AA || Voltage 12 Vdc CRDO0418NCAEL002 + V86050002 4? =N
AB || Voltage 24 Vdc CRD0418NCAEMO02 + V86050002 Ij

1 = Valves supplied with connector. Without connector see accessories page 59

IE/MC-2/01-2017

15




Sect. Il - MC Cavity 2

BREVINI

Motion Systems

Bidirectional flow control valves not compensated

* || Description Code Symbol Drawing

A || Screw adjustment CSB04C0000 e

B || Plastic knob adjustment CSBO4V0000 ]
Button operated valves

** || Description Code Symbol Drawing

A || Push-button control CPEQ4PO0D. 1 % a1
* | Plugs and fittings

* || Description Code Symbol Drawing
A ||Fitting 3/4 16 UNF - G1/4 20012100 —— ]

C ||Plug 3/4 16 UNF R78150099 —f 4 @

D || Fitting 3/4 16 UNF - G1/4 20001700 + @

E ||Long plug 3/4 16 UNF 20003800 JEH o{1f

F ||Fitting 3/4 16 UNF- G1/4 20009400 ﬂ+ ﬁﬂ

K ||Fitting 3/4 16 UNF DIN - G1/4 20018000 4} ﬂ

16

IE/MC-2/012017



Sect. Il - MCA Cavity 3 Rana> BREVINI

Motion Systems

Cavity
Type
Features
Components only for MCA
3CA T P
== L | i
3cB | |
=] 3. i2
) | |
3FBC ,Tl | |
Sz — - -
§ | |
3FC* | |
.............. il R
W= g | |
"""" } |
3FD* | '
mIEl v G1/4" = | 4 !
| |
3B |__ ____________ o I
e |, | |
G1/4§‘./....§
3HC P
Sk
3TN
I £
3TP
i i
3TQ
% G 3"
3TR
w=| o
3TS

IE/MCA-2/01-2017 17



Sect. Il - MCA Cavity 3 2ans~ BREVINI
m Lever operated valve

* || Description Code Symbol Drawing

—
c:%%@m

A || Without microswitch CMT044L0001

B || With microswitch CMT044M0001

Adjustable unidirectional flow control valve compensated

Description Setting Code Symbol Drawing

C || Screw adjustment 0.5+221/min 21000020.000 ,,‘é

El Adjustable flow control valve compensated (type VRFE)

* || Description Setting Code Symbol Drawing
A 2+3,51/min 20019800

B || Screw adjustment 5+751/min 20019900

c 8,5+13,51/min 20020000 |

Flow control valve

* || Description @ hole Code Symbol Drawing
A 0,7 mm 20020300
B || With G1/4” 0,9mm 20017500 =" ==
C T mm 20014400

Lagic valve with chek valve

* || Description Code Symbol Drawing

A (| OutG1/4" 20024100 o [IFID
m Flow control valve not compensated
* || Description Code Symbol Drawing

C || Screw adjustment 20003900 %

18 IE/MCA-2/01-2017



BREVINI

Sect. Il - MCA Cavity 3 e -l
lotion Systems
3 T * | Plugs and fittings

* || Description Code Symbol Drawing

N || Plug 20002200 T N

P || Long plug 20001100 - o

Q ||Fitting G3/8" 20022800 =

R || Long fitting G1/4” 20007900 % o fiE—=a

S || Return line fitting G1/4” 20001400 E GWE

IE/MCA-2/01-2017

19




Sect. Il - MCB Cavity 3 pana> BREVINI

Motion Systems

Cavity

Type
Features

Flow control valves
F Components only for MCB
g KRN ER VS

*

[mcls]*

] f

3TJ : /;::_1%
o e | STE

bd

Flow control valve 3

Plug with flow control valve

/* || Flow Code (flow control valve) Code (kit plug + washer) Simbol Drawing
/A [[0.7 I/min VSC06100002

/B ([ 1.11/min VSC06120002

/C || 2.1 1/min VSC06130002

fE || 3.2 1/min VSC06150002

/G ||47 I/m{n VSC06190002 17010085 @[III D
/K [6.31/min V/SC06220002

/N || 7.51/min VSC06240002

/Q || 10.0 I/min V/SC06280002

/U [[13.21/min VSC06330002

N {[15.7 I/min VSC06350002

20 IE/MCB-2/01-2017



Sect. Il - MCA Cavity 4 pana> BREVINI

Motion Systems

Fitting on return cavity 4
Flow control valve on fitting 4

Omit if not required
Components only for MCA

-

/gt

* * * * *

[mcfal

] f

Componenti solo per MCA

T P
| |
| |
| |
Bl 1 2
| |
| |
| |
e |
7l R
| |
: |
| |
| L |
| |
I s B |
I I
E =
4TB
.
L
!7
Any fitting and flow control valve on cavity 4
n TB /* | Fitting and flow control valve
Code Code . .
%
[* | |Flow (flow control valve) (fitting for flow control valve) Simbol Drawing
/A ||0.7 I/min VSC06100002
/B || 1.11/min VSC06120002
/C [|2.11/min VSC06130002
JE ||3.21/min VSC06150002 i
/G || 4.7 min VSC06190002 ﬁw
: M67250053
/K ||6.31/min VSC06220002 @
/N |[7.51/min VSC06240002
/Q {[10.0 I/min VSC06280002
/U {|13.2 |/min VSC06330002
N {|15.7 I/min VSC06350002

IE/MCA-2/01-2017 21



Sect. Il - MC Ports P-T pana> BREVINI

Motion Systems

Combinations plugs on ports

End section Il
T P
| I
| I
| |
3! ' 2
| |
| |
| I
@ | I
il TR
| |
; |
I |
| ‘ |
| |
Ll =1 . |
I |
El Combinations plugs on ports P-T Symbols description
o P | T Type | Description Thread Code Symbol | Drawing
0 | T T G1/4" 20024000
02| e |1 . 026622255 (plug) +
g |Portclosed B38| 051435044 (washer =
-03 Tl ® with plug
7/16" 20 UNF TJ08072000
06| ® | ® 9/16” 18 UNF TJ08091800
T |Port open — — —

22 [E/MC-2/012017



Sect. Il - Pumps

BREVINI

Motion Systems

Pump

Pump group

Performance level

Nominal displacement

Accessories (omit if not required)

r End section Il

Pumps group 05 - Performance level 1

G1/4

Tolerance on

Tanks not compatible (¢)

o || Nominal geometric P2 | P3 Code _ L1 SO1A | SO9E All Motors_
displacement disnl t bar | bar | complete kit | mm not compatible
Isplacemen (H):(V) |(H) (H):(V)
02 0.25¢cc 0.25+0.33 230 | 270 | 17050037.035 54 MA4FB(1) - M4GJ(1)
04 0.45cc 0.45+0.55 230 | 270 | 17050036.035 | 55.7 MM*PA(1)
05 0.56 cc 0.56 = 0.68 230 | 270 | 17050039.035 | 56.7 ° M AA,(\LLDA_AM)}_lAA“ )G
07 0.75¢cc 0.69+0.82 230 | 270 | 17050038.035 | 58.5 ° M*AB(1)D - M*AB(1)G
09 0.92cc 0.83+0.95 230 | 270 | 17050053.035 | 59.8 ° M*AB(1)H
P2 = Intermittent operating pressure Tanks not compatible (as dimensions, see page 25)
P3 = Intermittent peak pressure (20 sec. max) Motors not compatible (interface and transmission not supplied, see
pages 41 - 47)
/ * ! Pumps group 1 - Performance level 1 5 ©
_____ 3
: N o
—_— 2 I I,
ol |1
Tanks not compatible (°)
oo || Nominal | Teleranceon | o, | pg Code 11 .
. geometric . S01A | SO9E All
displacement | . bar | bar | complete kit | mm
displacement (H) (V) |(H) (H) (V)
07 0.80 cc 0.69+0.82 170 | 210 | 17050107.018 | 724 °
10 1.00 cc 0.96 +1.09 170 | 210 | 17050088.018 | 735 °
12 1.20 cc 1.10+1.30 250 | 290 | 17050005.018 | 74.8 °
17 1.70 cc 1.50+1.70 250 | 290 | 17050006.018 | 76.2 °
22 2.20 cc 2.10+2.30 250 | 290 | 17050007.018 | 78.2 °
26 2.60 cc 2.50+2.70 250 | 290 | 17050008.018 | 79.7 °
32 3.20cc 3.10+3.32 250 | 290 | 17050009.018 | 82.0 °
38 3.80cc 3.60+3.99 250 | 290 | 17050010.018 | 84.0 °
43 430 cc 400+4.35 250 | 290 | 17050011.018 | 86.6 °
48 480 cc 485+4.95 225 | 260 | 17050033.018 | 88.1 °
60 6.00 cc 5.62+6.02 185 | 215 | 17050012.018 | 922 || ® °
78 7.80 cc 7.48+7.90 140 | 160 | 17050013.018 | 989 || e e | e
98 9.80 cc 9.60 = 10.00 110 | 125 | 17050054.018 | 107.2 || ® i e | ®

P2 = Intermittent operating pressure

P3 = Intermittent peak pressure (20 sec. max)

Tanks not compatible (as dimensions,

see page 25).

IE/MC-3/00-2017

23




Sect. lll - Pumps BREVINI

Motion Systems

E ** i /* . Accessories for pumps group 1

* || Description Type Code Symbol o
5
/A 0825 1 yamosoo
[/min
Single-phase motor start | >2.5+8.0 pl = T B Al __>T
/B valve - on auxiliary outlet [/min VAMO400M ] NI—
/c >80=14 1y AMosooH
[/min
- 69 °
3 o
g Soft start val hol S
e oft start valve - on ole
g. /D auxiliary outlet goamm | AMS0404001 P T B 1 EEED' T
a
% 125
_**_ With Tanks not compatible ()
. accessory SO01A | SO09E | S02G | All
/A /B /C
E /D ° ° °
12 /A ;[B] /c ° ° °
17 /A ;g /c ° ° °
™ /A /B [C
E /D ° . .
/A /B /C
E /D ° ° °
) Eam—
38 /A ;g /C : : :
N /A /B /C . o o
E /D ° . .

Tanks not compatible (as dimensions, see page 25).

24 IE/MC-3/00-2017



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Motion Systems

Tank (S = with tank and tubes kit; G = only tubes kit, without tank; OMIT if without tank and without tubes kit)
Capacity liters

Features (material and construction)

Mounting position: (H = horizontal; V = vertical)

Variants (00 = standard, no variant) - OMIT if with tubes kit

Orientation - OMIT if with tubes kit in vertical mounting position

I— End section IV and V

e = e -
[
1
(*) ** *
*¥% L't * H H H
rers Dimensions (mm) | Material Mounting Variants Page Orientation Page
01 1 A|0123-L141 Sheet steel ((‘I-;; g: 26
00
1,5 G |1 130x140 - L 135 | Polyethylene ((\I.:; 00 35
02 (H) o0
2 A |0123-1200 Sheet steel v) 0 26
00
2,5 G | 41 130x140 - L 235 | Polyethylene ((\I.:; 00 35
03 (H) 00
3 A |0123-1330 Sheet steel v) 0 26
00
4 G |1 130x140 - L 295 | Polyethylene ((\I.:; 00 35
04 (H) 00
4 L |/180-L210 Polyethylene V) 0 36
00-01-02-03-04
5 B |@175-1246 Sheet steel :\I.:; 00 27
05 5 C|@200-L210 Sheet steel ((‘I.;; g: 28
(H) 00
5 F |[/1180-L240 Polypropylene V) 0 34
-04
06 6 B |@175-1308 Sheet steel :‘I.;; 0(')): 27
7 |['E |7 154x188 - L 299 | Sheet steel V) 0001 30 /“lsztd)
(H) 00 39
7 F |[1180-L308 Polypropylene V) » 34 3
/4
07 7 L |[180-L310 Polyethylene ((‘I.;; gg 37
. (H) 00
7 M [[1180-L335 Polietilene ) » 38
8 B |0175-1370 Sheet steel (H) 00-04 27
08 (V) 00
(H) 00
8 C |@200-L306 Sheet steel v) 0 28
(H) 00
il g E |/ 230x130- L 350 | Sheet steel V) ™ 31
L |}180-L370 Polietilene (V) 00 37
10 C|@200-L373 Sheet steel (H) 00 28
(V) 00
(H) 00
10| 10 D |@217-1L273 Sheet steel V) 0 29
(H) 00
10 L |/180-L410 Polyethylene v) 0 37
(H) 00
12| 12 D |@217-1L370 Sheet steel V) 0 29
14| 14 E |1 255x193 - L 366 | Sheet steel (V) 00-01 32
25 25 E |1 250x255 - L 436 | Sheet steel (H) 00-01 33
X255 - eet stee V) 001

IE/MC-4-5/01-2017 25



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Motion Systems

*

Tanks 0 123 - Sheet steel, capacity 1-2-3 liters - Horizontal mounting (black painted)

Capacity (liters) 37
_ Tank fixi (49149800)
zlgl 2l b | = . Tank R
g 5|E(g||m | £ _| 3 (with plug) (screws and 0-Ring)
HHEHEE S| 2|3 e
01 1w |1 [ 10] 07 90310000 .
02| A |(H)|]00|| 200 2 16 | 15 90310001 17010086 L
03 330 | 3| 3 |28 90310002 777777 () spare pats
(1) Variant - OMIT if without tank but with tubes kit
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
* |**| * |(V)|** * Tanks 0 123 - Sheet steel, capacity 1-2-3 liters - Vertical mounting (black painted)
Capacity (liters) 101 (43143800)
zlg| g s L = Yank Ta“kkfiltxmg , | :
§_ 2 E .E (mm) E - % (with plug) (screws and 0-Ring) " o
HEEEE S| 2|3 |
01 4|1 |09 |07 90310009 . (60502700)
02| A |(V)|]00|| 200 2 16 | 15 90310010 17010086 I
03 330 3 29 | 29 90310011 |
@123

1) Variant - OMIT if without tank but with tubes kit
(1) 7o (..) spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

26 IE/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Motion Systems

*

** | * |(H)| ** | * Tanks 0 175 - Sheet steel, capacity 5-6-8 liters - Horizontal mounting (black painted)

Capacity (liters) N 51 (49149800)
— Tank fixing
zlgl 2l b | = Tank kit 0
S|5|E|5| (M) 2 = (with plugs) (screws and O-Ring)
=9 "= — ©
S| 2|28 S| |3 _ _ 2
Q
05 246 5 47 | 45 90310003 4“
06| B |(H)[00 |l 308 | 6 | 6 |59 90310004 17010086 25 N6
| L
R78100021
08 370 8 8 7.3 90310005 (R78100021)
77 () spare parts
(1) Variant - OMIT if without tank but with tubes kit
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
05 ] 90310003 ||| 05 ] 90310149 |[|[ 05 90310134 ||| 05 ] 90310176
(06 B |(H) |01 (06| B |(H) |02 (06| B |(H)|03 90310062 106 | B [(H) |04
08 08 08 90310069 08
(49107500) (3 (49121900) %3
@/(RmmooanA 77777, (R18100021) \@ S (R78100021) 722227 @/ (R78100021) 722727

*

* | ** | * |(V)| ** Tanks 0 175 - Sheet steel, capacity 5-6-8 liters - Vertical mounting (black painted)

Capacity (liters) N (49149800)
=l g ol = L - Tank Tankk:|txmg 127
S| E|lE|E ® i
E_ g § E (mm) E - s (with plugs) (screws and O-Ring)
S|&|=|S 2| 2| 3
05 246 5 43 | 41 90310012 .
— (60502700)
06| B ((V){00|| 308 6 58 | bb 90310013 17010086
08 370 8 75| 72 90310015 2
@ @175
(1) Variant - OMIT if without tank but with tubes kit
(R78100021) 777777,  [.)spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

IE/MC-4-5/01-2017 21



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Motion Systems

*

** | * |(H)| ** | * Tanks 0 200 - Sheet steel, capacity 5-8-10 liters - Horizontal mounting (black painted)

Capacity (liters)
= Tank fixin (49149800) ({5
zlgl2 Sl b= . Tank it L T
g 5|E(g||m | £ _| 3 (with plugs) (screws and O-Ring)
HEHE S| 2|3 ~ !
o
05 205 5 53 | 50 90310425 — = — 1T §
08| C [(H)|00 | 301 8 80 | 7.7 90310428 17010086 j
— 77777, K@
10 368 | 10 | 10 | 93 90310431 1) spare parts (R78100021)
(1) Variant - OMIT if without tank but with tubes kit
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
[ 05| 90310453
[08] C|(H)|o03 90310443
10 90310483
(49107500) (37
07 (R78100021—)\@
* **| * |(V)|** * Tanks @ 200 - Sheet steel, capacity5-8-10 liters - Vertical mounting (black painted)
Capacity (liters)
. fank Tank fixing (49149800)@
Z|lg| gl | E © (.th"‘“l | kit T ,
S| =S| E|E mm £ 2 with plugs " N b
§ % E g g = § (screws and 0-Ring) | (R78100021)
[ R = (i) =] |
05 205 | 5 | 46 | 43 90310444 - | ?
N .=1/._.
08| C ((V)|00| 301 8 75 | 71 90310437 17010086 | ¥
] @ 200
10 368 10 | 95 | 91 90310439 07, () spere parts
7/ .

(1) Variant - OMIT if without tank but with tubes kit

Other variants

Variant Tank Variant Tank Variant Tank Variant Tank

28 IE/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit

BREVINI

Motion Systems

*

Capacity (liters)
=l 2| = L - Tank Tankkzltxmg
S| e(E|E @ ;
‘E 2|3 E (mm) E _ | = (with plugs) (screws and O-Ring)
HEIEES 2| 2| 3
10 273 10 8 76 90310006
— D |(H)| 00 17010086
12 370 12 12 11 90310058

(1) Variant - OMIT if without tank but with tubes kit

Tanks 0 217 - Sheet steel, capacity10-12 liters - Horizontal mounting (black painted)
220 (12 liters)

g1
== == 12 lit
5 == \( iters)
4 *
o|g
4 3l=
AN
] A
72
~" (49105800)

@217

£

—n
4

: ®
Other variants () spare parts 007 (20018500)
Variant Tank Variant Tank Variant Tank Variant Tank
**| * |(V)| el I Tanks 0 217 - Sheet steel, capacity10-12 liters - Vertical mounting (black painted)
Capacity (liters) 167 (491105800)
. Tank fixing
z| g 2| = L = Tank it _
Z| 3| E|l= ® )
§_ £ § § (mm) E - | = (with plugs) (screws and O-Ring)
S|e|=|S 2| | 3
10 273 10 7 6.8 90310029 . : (MEG5121200)
— D |(V)| 00 17010086 |
12 370 12 1103|101 90310100 |
(1) Variant - OMIT if without tank but with tubes kit v
&
(20018500) (..) spare parts
Other variants
Variant Tank Vari Tank Variant Tank Variant Tank

IE/MC-4-5/01-2017

29



Sect. IV -Tanks / Sect. V -Tubes kit eana> BREVINI

Motion Systems

* *

Rectangular tanks - Sheet steel, capacity 7 liters - Vertical mounting (black painted)

Capacity (liters) (49154200} ./_@
. . ‘__
=l 2| = L - Tank Tankkzltxmg s g
Sl E2|E|E © i
8 = g E (mm) = - | = (with plugs) (screws and O-Ring) §
S|e|=|S 2| 2| 3 : 3
07| E (V)| 00|l 299 7 55 | 5.1 90310014 17010086 & Z4z N
' (49154200)
215,5
11 N°4
(1) Variant - OMIT if without tank but with tubes kit —h ]
ng:‘ﬁl[\\ <| ©
\g E‘ - o o =
@ <
IGZ,ﬂ =
71 80! 183
(..) spare parts L
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

07 E [(v)[01 90310036

(49107500) ::i;:

c__&
& 77707,
(49154200)

30 |E/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Rectangular tanks - Sheet steel, capacity 9 liters - Horizontal mounting (black painted)

*

Capacity (liters) (49149800) ~
=gl 2S5 Tank Tonk fing (R78100021) b ]
SRR @ i 1
i 2 g E (mm) E - | = (with plugs) (screws and O-Ring) o
S| &l=|S = find 3 —_ |-t —- p]

&
N
09| E [(H)|00|| 350 9 9 8 90310142 17010086 '
o] 25 | 211
(1) Variant - OMIT if without tank but with tubes kit
# 5
8|8 8
+ :
(..) spare parts L
Other variants )
Variant Tank Variant Tank Variant Tank Variant Tank
* **| * |(V)| **| * |- Rectangular tanks - Sheet steel, capacity 9 liters - Vertical mounting (black painted)
Capacity (liters) (49149800) @—\" o
iy Tank fixing | o
2 = L — Tank . !
ZIE1E 2|l om | B o it plugs) kit 2 8
s| 2| 5|.8 E | | = plug (screws and O-Ring) b RS
S| S| & & s | 3| & &
Ol |=|> =2 i o A
7 @ Rsn)
211 25
09| E (V)| 00| 350 9 | 86|75 90310142 17010086 S
@
< x
(1) Variant - OMIT if without tank but with tubes kit L _ ol
) Q
1
236
. ) spare parts L
Other variants (- spare p
Variant Tank Variant Tank Variant Tank Variant Tank

IE/MC-4-5/01-2017 31



Sect. IV -Tanks / Sect. V -Tubes kit eana> BREVINI

Motion Systems

* *

Rectangular tanks - Sheet steel, capacity 14 liters - Vertical mounting (black painted)

Capacity (liters) (49149800)

ol =l o Tank Tank fixing </ .@. :

E|g|ElS 5 o an kit ] —
i .E S E (mm) E - | =2 (with plugs) (screws and O-Ring) l—J o
S| 2|2\ S 2| 2|3 8 = =

“ (@8

14| E |(V)|00|| 366 14 14 13 90310045 17010086 a

T v (49154200)

(1) Variant - OMIT if without tank but with tubes kit

277.5

(..) spare parts

|V Other variants

Variant Tank Variant Tank Variant Tank Variant Tank
141 E|V)][01 90310046

/_@ (49107500)

[@}—t+L4
7z €~ Ta9154200)

32 IE/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit BREVINI

Motion Systems

* *

Rectangular tanks - Sheet steel, capacity 25 liters - Horizontal mounting (black painted)

(49118000)
Capacity (liters) 19 —|<4—6
- Tank fixing (20022600)
zlg| Bl b | s . Tank kit ol |
8| 5|E| & (mm) E _ | = (with plugs) (screws and O-Ring) 2 Pg
HEEES S| 2|3 s | B
7 (25)
25| E |(H)|0O|| 436 | 25 | 22 | 21 90310060 17010086 . 16.5 n°4
Q lo] /1N |
hA _LL shgp
(1) Variant - OMIT if without tank but with tubes kit I NN
(9] |
A| L |3 e
© == L=’
< 474 (16)
506
Other variants () spare parts
Variant Tank Variant Tank Variant Tank Variant Tank

25| E [(H]01 90310083

@) (49120600)

1 > =
(20022600)

* *

Rectangular tanks - Sheet steel, capacity 25 liters - Vertical mounting (black painted)

100 (49118000) 46 0
Capacity (liters) & ——1= ) ~ 2
— Tank fixin —t—
zlgl 2zl s . Tank it '
- - = — . o
g 2|3 k- (mm) El=| 3 (with plugs) (screws and O-Ring) Qe s
S| &l=|S 2 fid > “y 1
€N 7
v 16.5 n°4 (25)
25| E [(V)|00|| 436 25 25 22 90310071 17010086 (20022600) 2N _
o] © N
N A4
1) Variant - OMIT if without tank but with tubes kit
(1) 8 817\&%
26‘|‘ L @
< 474 (16)
506
Other variants (.) spare parts
Variant Tank Variant Tank Variant Tank Variant Tank

25| E[(v)[01 90310124

(49120600} @\

D T
(20022600)

IE/MC-4-5/01-2017 33



Sect. IV -Tanks / Sect. V -Tubes kit eana> BREVINI

Motion Systems

* *

Square polypropylene tanks capacity 5-7 liters - Horizontal mounting

Capacity (liters)
=el2/S|| L] < Tank Ta“"k'i't’““g @ 9138700
SIE|E|E| (mm | £ 2 |(with plug, brackets, nuts) 4 OR — .
s| 25| ¢ E| = 2 (screws and O-Ring) m _@— -
S|&|E|S = | 2|3 o 1
[ ol o
AT R R
05 242 5 54 | 45 90310313 S 1
H I
— F |(H)| 00 17010086 i =
07 308 7 74 | 65 90310289 Y
Operating temperature -10°C = +60°C - (1) Variant - OMIT if without tank but with tubes kit (..) spare parts
* **| * |(V)| il Square polypropylene tanks capacity 5-7 liters - Vertical mounting
90 105
Capacity (liters) @
T 7 P
zlgl2Sl| b= o | . Tank Ta"kk:'txmg (49138700)
E_ % ‘é E (mm) E _ % (with plug, brackets, nuts) (screws and O-Ring) |
HEAHES 2| 2|3 -
_— N - — —
05 242 5 | 54145 90310313 I
— F {(V)| 00 17010086
07 306 7 | 74165 90310289
(..) spare parts

Operating temperature -10°C = +60°C- (1) Variant - OMIT if without tank but with tubes kit

34 IE/MC-4-5/01-2017



. BREVINI
Sect. IV -Tanks / Sect. V -Tubes kit g5 BREVINI
* **| * |(H)|**| * Square polyethylene tanks capacity 1.5-2.5-4 liters - Horizontal mounting
Capacity (liters) (V60513005)  (C86100001)
- Tank fixing X
zlgl 2l b | = o | .. Tank kit collar 8123 N\ 35
S| 5| E|5 (mm) E = | (with plugs, clamp, nuts) (screws and O-Ring) o |
HHEE 05 8 = s . =
02 135 | 15 | 13 1 90310491 f- r T k ?_*
L z Q J
03| G |(H)00| 235 |25 |25 2 90310484 17010087 e S
E 295 4 | 34|25 90310422 - 10
. . 7
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit (..) spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

*

*

Square polyethylene tanks capacity 1.5-2.5-4 liters - Vertical mounting

Capacity (liters) <02=49153500 )
- Tank fixing 03-04 = 49138700
E 8 5 E (mLm) g 2 | (with plugzagll:amp nuts) kit collar 3123
g .E g £ ‘E - 3 ' ' (screws and 0-Ring)
S| &|=|S 2 | | 3
02 135 | 15 | 1.1 | 07 90310486 -
03| G|(V)|00| 235 | 25 | 27 | 23 90310419 17010087
04 296 4 35 | 31 90310402 @
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit (49154200)
(..) spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

IE/MC-4-5/01-2017

35



Sect. IV -Tanks / Sect. V -Tubes kit

BREVINI

Motion Systems

*

Square polyethylene tanks capacity 4 liters - Horizontal mounting

=tiene IlllllllE

Capacity (liters) (C86100001)
- Tank fixing 35
= el 2= L —_ Tank . -
S| £ E Ell (mm) £ 2 | (with plugs, clamp, nuts) (kltcollagg1|§3) (V60513005) o]
S 238 E = = screws and O-Ring - o
S| E|2| £ 2| 2|3 ol (] 2 o
< i g
INERNYIE
jutt o [ee]
04| L [(H)|00|| 210 4 36 3 90310331 17010087 U
L Y 180
7 \@ (49154200)
Operating temperature -10°C = +70°C - (1) Variant - OMIT if without tank but with tubes kit () spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
* **| * |(V)|** * Square polyethylene tanks capacity 4 liters - Vertical mounting
Capacity (liters)
pacity ki (49153500)
2= L — Tank _amlixing
E 81| (mm) 2 @ | (with plugs, clamp, nuts) kit collar 9123
g| 2 § k] E - | = piugs, clamp, (screws and O-Ring) s
S L= g =2 iz % A=
- -!I LRRREREN)
04| L [(V)|OO || 210 4 3.7 3 90310332 17010087 Z@ \ @
(49154200)
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit (..) spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
04 L [(V)]01 90310433
(49138700)

36

IE/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit eana> BREVINI

Motion Systems

* *

Square polyethylene tanks capacity 7-10 liters - Horizontal mounting

Capacity (Iiters) (0861 00001 )
- Tank fixing

E g ‘g E (mLm) E 2 | (with plug.ls-aIcII';mp nuts) kit collar 3123 v ~—

g ‘E E £ E - -‘:’ ' ’ (screws and 0-Ring)

S| 8|2|S 2| 2|3 QF ;{ -
=] H z - G
- H H _ o

07 310 | 7 |67 |55 90310330 L e (N s .

— L |(H)| 00 17010087 " /20 1m0

10 410 0 |87 |75 90310339 W/

(V60513005)
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit (..) spare parts

% X

Square polyethylene tanks capacity 7-10 liters - Vertical mounting

(07= 491 38700)

Capacity (liters) 10= 49153500 g@
- Tank fixing 1
£ 8 £z (mLm) = 2 | (with p|ugTsalcl|';mp nuts) | Kitcollar 9123 ?
8 % E £ g - ] ' ' (screws and 0-Ring)
S| &l=|S 2| 2| 3 =
07 310 | 7 | 67| 6 90310403 S
— L |(V)| 00 17010087 N
10 410 10 | 98 9 90310338 @ 7,
(V60513005) (49154200)
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit () spare parts
* -x--x-| * |(-x-)|-x-* * S - . - . (49153500)
quare polyethylene tanks capacity 9 liters - Vertical mounting
Capacity (liters)
- Tank fixing 1
zlg| Bl b | s o | ... Tank kit collar 8123
| 5 E E (mm) E 2 (with plugs, clamp, nuts) (screws and O-Ring) 4
SEEIE 2| E |3 .
09| L |(V)joo|| 370 9 8.6 8 90310371 17010087 .
N 70000 G@
Operating temperature -10°C = +70°C - (1) Variant - OMIT if without tank but with tubes kit (V60513005)
85 | 95
180

(..) spare parts

IE/MC-4-5/01-2017 37



Sect. IV -Tanks / Sect. V -Tubes kit eana> BREVINI

Motion Systems

*

** | * |(H)| ** | * Special square polyethylene tanks capacity 7 liters - Horizontal mounting

Capacity (liters)
- Tank fixing
% g g = (mLm) g 2 | (with plu 1s-aiclll;m nuts) kit collar 4123 49755600)
g| 2 g 8 £l = ‘5;, piugs. clamp. (screws and O-Ring)
S| &l=|S 2 find =)
L} L} Q
18
07 | M ((H)| 00 || 335 7 73 | 6.6 90310380 17010087 5
L | 180
Operating temperature -10°C = +70°C - (1) Variant - OMIT if without tank but with tubes kit () spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank
* **| * |(V)| il Special square polyethylene tanks capacity 7 liters - Vertical mounting
Capacity (liters) (49155600)
- Tank fixing /@
= L — Tank . —
Zl 8|l g2 < ° ! kit collar 8123 I 5
i % § E (mm) § _ g (with plugs, clamp, nuts) (screws and O-Ring) S
S| &|=|S 2 fid > A
, :
07| M (V)| 00| 335 7 72 | 64 90310380 17010087 | -
Operating temperature -10°C = +70°C- (1) Variant - OMIT if without tank but with tubes kit (..) spare parts
Other variants
Variant Tank Variant Tank Variant Tank Variant Tank

38 |E/MC-4-5/01-2017



Sect. IV -Tanks / Sect. V -Tubes kit

DANA

BREVINI

Motion Systems

* *% *

-

(*) | - | /* | Tanks orientation according to the mounting position

/* Orientation

For tamk * i iti
or tamks l Mounting position N (standard) 2 /3 /4
Horizontal
®
A o @ 2 . 2
s =g |l I gj ®(E
AN N TRSTRSTTR K
I (1)
. _ B [* Orientation
For tamks L Mounting position 1 (standard)
Horizontal
@
S |09 E |[(H)
paguway
EAN AN
% H 1
Fortamks || (¥) || Mounting position f* Ortentation
) /1 (standard)
Horizontal
@
S |25 E ||(H) B
- \
EAN AN
_ B /¥ Orientation
*
For tamks L Mounting position A (standard) 2 /3 /4
Horizontal
® ®
F
S|** |G ||(H
0 ®
RO K

(1) Orientation TO BE USED with blocks

IE/MC-4-5/01-2017

39




Sect. IV -Tanks / Sect. V -Tubes kit

BREVINI

Motion Systems

* *% *

(*)

*%

L

/* | Tanks orientation according to the mounting position

For tamk * M . .. /* Orientation
or tamks l ounting position 1 (standard) 2 A P
Vertical
A
: Q.
¢ e ® ® ] ;@ ®
: > | {© Qr | <@ | 1©
G ~—
L

/* Orientation

(1)

For tamks : Mounting position 1 (standard) /A
Vertical
slo|ellml| 5 @

/* Orientation

(1)

For tamks l Mounting position 1 (standard) A
Vertical
09
S || E|[W) ::]
TS 7777578

/¥ Orientation

(1)

For tamks l Mounting position 1 (standard) A
Vertical
S [14| E ||(V) ::l.ll—||

(1) Orientation TO BE USED with blocks
(2) D Orientation DO NOT USE with blocks

40

IE/MC-4-5/01-2017



Sect. VI - DC Motors

BREVINI

Motion Systems

Motor

Voltage

Power / Size

Version

Accessories

Orientation

End section VI
All motors are equipped with a transmission kit

(coupling and components for the assembly)

* | Voltage || ** |Power Size (*)  Version | Page * Accessories [* Orientation | Page
GA |350W (@80 (1) Std 42 0-B
GC |[700W @80 (1) Std 42 0-B
2| 12VDC AA | 1500W @115 (1) Std 43 0-B-C-D-F-G-H
EN | 1600W @115 (1) Std 43 0-B-C-E
GN [1600W @115 (1) Std 44 0-B-C-E n
GB |400W @80 (1) Std 42 0-B /2 Std 18
GD |[800W @80 (1) Std 42 0-B 3
AB [2000W @115 (1) Std 43 0-B-C-D-F-G-H || /4
4 | 24VDC ES |2200W @115 (1) Std 43 0-B-C-E
GP |2200W @115 (1) Std 44 0-B-C-E
GJ [3000W @125 (1) Std 44 0-B-C-E
FB |3000W @125 (1) Std 44 0-B-C-E
li
* || Accessories description Page
0 Without accessories —
B Starting switch 45
C Thermal protection —
D (+)|| Ventilation 45
E Starting switch + thermal protection —
F ()|| Starting switch + ventilation —
G Thermal protection + ventilation —
H ()| Starting switch + thermal protection + ventilation —
()= IP protection level becomes effective after installationon on power pack.
Acquires IP 10 level with “ventilation” accessory.
For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.
IE/MC-6DC/00-2017 Y|



Sect. VI - DC Motors oana> BREVINI

Motion Systems

Motors: 12 VDC 350 W /24 VDC 400 W (permanent magnets)

[ Voltage | W | A [ rpm | Nm [S2mn| $3% [ IP | IC [@mm | Codel® |
(M[2]eal()] * /]| 12vbc | 350 | 40 [ 3300 | 10 [ 10 | 3 [ s | F [ 8 | 25021400 |
(M[a]eB[()] *[/]| 24vpc | 400 | 30 [ 3100 | 12 [ 5 | 20 [ s | F [ 8 | 25021500 |

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

‘”1 I _ | M | * | o | *) E| /* | Accessories (page 45)
> . ® _E - . * | Description
‘ ® o of © 0 | Without accessories
E = B | Starting switch 120A fixing with clamp
= 1435 13.80 MAX

Code trasmission kit: page 53

Motors: 12 VDC 700 W /24 VDC 800 W (permanent magnets)

[ Voltage | W | A | rpm | Nm [S2mn| S3% [ IP | IC [@mm | Codel® |
(m[2]ee[(m] * /]| 12voc | 700 | 90 [ 3300 | 20 [ 25 | 10 [ s | F [ 8 | 25021600 |
(M| alep]()] *[/]| 24voc | 80 | 70 [ 3000 | 256 | 2 | 5 [ s | F [ 8 | 25021700 |

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

i [M] = [=[¢)] * | /7 ]- Accessories (page 45)

* |Description

0 |Without accessories

@ 80
|
|
|
6.40
T
@ 80

B |Starting switch 120A

162 13.80 MAX

| Code trasmission kit: page 53

For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.

42 IE/MC-6DC/00-2017



Sect. VI - DC Motors oana> BREVINI

Motion Systems

Motors: 12 VDC 1500 W /24 VDC 2000 W (wound field compound)

[ Voltage | W | A | rpm | Nm [S2mn| S3% [ IP | IC [ @mm | Code® |
(mM[2]aA[()] *[/*]| 12vDc | 1500 | 225 [ 2500 | 55 [ 1 | 5 [ s | F [ 115 | 25022200 |
(M| alaBl()] * /]| 24vpc | 2000 | 150 | 2250 | 8 | 2 [ 5 | s4 | F | 15 | 25022300 |

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

[M] = [=[¢)] *| /7 ]- Accessories (page 45)

9.1 MAX * | Description

ol ¢ ® o | 0 |Without accessories

g [ :
N
58 = B |Starting switch 120A

o
(o} _
= D |Ventilation
123 MAX 173

F |Ventilation + Starting switch

G |Ventilation + Thermal protection

H |Ventilation + Thermal protection + Starting switch

Code trasmission kit: page 53 Acquires IP 10 protection level with “ventilation” accessory.

Motors: 12 VDC 1600 W / 24 VDC 2200 W (wound field compound)

| Voltage | w | A | rpm | Nm | $2 min | S$3% | IP | IC | 2 mm | Code (®) |
(M| 2 [eENJ()] * /]| 12vpc | 1600 | 230 | 2600 | 5 | 2 [ 10 | 54 | F | 15 | 25021100 |
(M| alesi(] * /]| 2avoc | 2200 | 140 | 2700 | 8 | 12 | 5 | 54 | F | 15 | 25021200 |

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

215

M| = =[] = /] Accessories (page 45)

@35

2114

* | Description

0 |Without accessories

12.3

B |Starting switch 120A

C |Thermal protection

E |Starting switch + thermal protection

Code trasmission kit: page 53

For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.

IE/MC-6DC/00-2017

43

| DC



Sect. VI - DC Motors oana> BREVINI

Motion Systems

Motors: 12 VDC 1600 W /24 VDC 2200 W (wound field serie)

[ Voltage | W | A [ rpm | Nm [S2mn| $3% [ IP | IC [ @mm | Code® |
(M| 2 [6NJ()] *[/#]| 12vDc | 1600 | 220 | 2600 | 6 | 4 | 8 | 54 | F | 115 | 25022600 |
(M aleP[()] *[/*]| 24vDc | 2200 | 140 | 2600 | 6 | 2 | 75 | s | F | 115 | 25022700 |

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

84, 1212 [M] =[] ] *|/]- Accessories (page 45)
? ® B ] ® % * |Description
o <21 H M5 n°2 H
< 83 L . /9_ = 0 |Without accessories
5 @t e i@ > s
G = \o B |Starting switch 120A

| 1/4-20UNC

9.1 ~—~~
1.8 _| 161.8 98.32 Code trasmission kit: page 53

Motors: 24 VDC 3000 W (wound field compound)

[ Voltage | W | A | rpm | Nm [S2mn| S3% [ IP | IC [@mm | Codel® |
Mm[almB[(m] *[/][ 24avbc [ 3000 [ 200 [ 3300 8.5 4 15 20 F 125 25021300
M| aled[(] *[/#][ 2avpc | 3000 | 180 | 3500 8.5 35 15 20 F 125 25022400

IP protection level becomes effective after installationon on power pack.
(®) Motor without accessories

[M] = [=[¢)] * | /7 ]- Accessories (page 45)

*% *

Description

0 |Without accessories

g g B |Starting switch 150A
K FB ’
GJ .
D |Ventilation
285 : _ . i
ggg SNEZASEB) F |Ventilation + Starting switch
43 ( )
G |Ventilation + Thermal protection
FB

H |Ventilation + Thermal protection + Starting switch

Code trasmission kit: page 53

For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.

44 IE/MC-6DC/00-2017



BREVINI

Sect. VI - DC Motors Rans
(M| * =]l c]/]- Accessory: Thermal protection
Thermal protection o
Code @ mm For motors
90340009 16 MZ2EN - M4ES
MR /* |- Accessory: Starting switch
182.5
5772 64.5 ;
emale Faston - 5 Female Faston
vt 20 - 6.3-08 N.2 29 5
z o]
N % /‘ / [ ] 5 fl
m L B 5- © ‘\ e L g
B Qy \ |- [ —
]|

120A starting switch
Code () VDC | For motors

KIT07012.027 12 | M2GA - M2GC
KIT07012.032 | 24 |MA4GB-MA4GD
KIT07012.033 12 | M2AA

KIT07012.034 24 | M4AB

KIT07012.025 12 | M2EN - M2GN
KIT07012.026 | 24 |MAES - M2GP

150A starting switch

Code ()

VDC | For motors

KIT07012.019

24 | M4FB - M4GJ

(e) Complete kit with all assembly components.

For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.

(M| = [*=]¢] *|/]- Accessory: Ventilation (motor included)

O\
&
> o SRR
°© D @ 0000
= D — D sage
— ° | 0000
— - 0000
=, @) 58060
= © ® 2888
= 2999
46 173 53.2 | 55.9 207.5
IP 10 protection IP 10 protection
* Code () VDC |For motors * Code () VDC |For motors
D | KIT01008.065 12 |M2AA D | KIT01008.118 24 |M4FB
G | KIT01008.088 12 |M2AA + thermal protecion D | KIT01008.215 24 |MA4GJ
D | KIT01008.067 24 |M4AB G | KIT01008.119 24 | MAFB + thermal protecion
G | KIT01008.077 24 |MA4AB + thermal protecion () Complete kit with all assembly components (motor, transmission kit, etc).
For more details, features and performances DC motors, see catalog Dana Brevini code DOC00053.
45

IE/MC-6DC/00-2017




Sect. VI - DC Motors oana> BREVINI

Motion Systems

(M[ = [*[1[* || Motor arientation

Starting switch and poles position.

<i Do not use “orientation 1"
— with blocks.

46 IE/MC-6DC/00-2017



Sect. VI - AC Motors BREVINI

Motion Systems

Motor
Phases
Poles
Size
Power range
Version
Orientation
End section VI
MC ... [m| =] ] «]=|x]r]|
[ 1
—|—|
* | Phases ||* Poles|| * Size i Pow erP-)‘\,l:ﬁ;;:nqe Page || (*) Version || /* Orientation | Page
L 71 A | 0.37 kW | 230 Vac 50 Hz 48
L 71 B | 0.55kW |230 Vac 50 Hz 48
S 71 A | 0.75 kW | 230 Vac 50 Hz 50
S 71 B | 1.10 kW | 230 Vac 50 Hz 50
2 M 80 A | 0.75 kW |230 Vac 50 Hz 48
M 80 B | 1.10kW |[230 Vac 50 Hz 48
N 90 A | 1.50 kW |230 Vac 50 Hz 48
N 90 B | 2.20kW | 230 Vac 50 Hz 48
P 100 A | 3.00 kW |230 Vac 50 Hz 48
M | Monofase L 71 A | 0.25 kW | 230 Vac 50 Hz 48
L 71 B | 0.37 kW | 230 Vac 50 Hz 48
S 71 C | 0.85kW |230 Vac 50 Hz 50
M 80 A | 0.55 kW |230 Vac 50 Hz 48
4 M 80 B | 0.75kW |[230 Vac 50 Hz 48
N 90 A | 1.10 kW | 230 Vac 50 Hz 48
N 90 B | 1.50 kW |230 Vac 50 Hz 43
v 90 A | 1.80 kW |230 Vac 50 Hz 51
v 90 B | 3.00 kW | 230 Vac 50 Hz 51
P 100 A | 2.20 kW | 230 Vac 50 Hz 48
R 63 A | 0.18 kW |230/400 Vac 50 Hz 49
R 63 B | 0.25kW |230/400 Vac 50 Hz 49
L 71 A | 0.37 kW |230/400 Vac 50 Hz 49
L 71 B | 0.55kW |230/400 Vac 50 Hz 49
s| 7 A | 0.75KW [230/400 Vac 50 Hz | 50 g
S 71 B | 1.10 kW |230/400 Vac 50 Hz 50 (1) Std n Std 52
2 M 80 A | 0.75kW |230/400 Vac 50 Hz 49 /
M 80 B | 1.10kW |230/400 Vac 50 Hz 49
T 80 A | 2.70 kW | 230/400 Vac 50 Hz 51
T 80 B | 2.70 kW [230/400 Vac 50 Hz 51
N 90 A | 1.50 kW | 230/400 Vac 50 Hz 49
N 90 B | 2.20 kW |230/400 Vac 50 Hz 49
P 100 A | 3.00 kW | 230/400 Vac 50 Hz 49
P 112 B | 4.00 kW |230/400 Vac 50 Hz 49
T | Tiase R 63 A | 0.12 kW | 230/400 Vac 50 Hz 49
R 63 B | 0.18 kW |230/400 Vac 50 Hz 49
L 71 A | 0.25kW |230/400 Vac 50 Hz 49
L 7 B | 0.37 kW |230/400 Vac 50 Hz 49
S 71 A | 0.75 kW | 230/400 Vac 50 Hz 50
M 80 A | 0.55kW |230/400 Vac 50 Hz 49
M 80 B | 0.75kW |230/400 Vac 50 Hz 49
4 T 80 A | 2.20 kW |230/400 Vac 50 Hz 51
T 80 B | 2.20 kW |230/400 Vac 50 Hz 51
T 80 C | 2.20 kW |230/400 Vac 50 Hz 51
T 80 D | 3.00 kW |230/400 Vac 50 Hz 51
N 90 A | 1.10 kW [230/400 Vac 50 Hz 49
N 90 B | 1.50 kW |230/400 Vac 50 Hz 49
P 100 A | 2.20 kW | 230/400 Vac 50 Hz 49
P 100 B | 3.00 kW |230/400 Vac 50 Hz 49
P 112 C | 4.00 kW |230/400 Vac 50 Hz 49

Motors supplied with all assembly components (transmission kit, coupling, etc).

IE/MC-6AC/00-2017 47



Sect. VI - AC Motors BREVINI

Motion Systems

L2

|H Adapter: supplied with the transmission kit
(o)}

H1
7

D1

THT
il

L1

Single-phase motors 2-4 Poles - 230 Vac 50Hz - Version B14

Power range E B Adapter
o D1|(D2 | H1| L1 Power Ef Screw Single Transmission kit
%E 2 (o) | (o] | ()| () W Voltage IP |IC|S1 ﬁg Code | UNI | L2 | Motor (for pump)
- S E 5931
M| M LIA[(1)]|2[2] 71 |14|148]115|208| 037 | 230Vac50Hz |54 | F |Si|20-25 | 61000700 | M6x20 [19.5] M12E2000 |K|T01008.006 (Gr.05)
M|M L{B|(M|{2]2|71 [14]148]115]208| 055 | 230Vac50Hz |54 |F |Si|20-25 | 61000700 | M6x20|19.5| M12F2000 |KIT01008.001 (Gr.1)
M{M|2|M|A[(1)||2]2]|80|19]170]|126|234| 075 | 230Vac50Hz |54 | F |Si|20-25 61000800 | M6x20 [30.4| M1362000 |K|T01008.005 (Gr.05)
M| M M|B|(1)||2[2|80|19]170|126|234| 1.10 230Vac50Hz |54 | F |Si|20-25 | 61000800 | M6x20 | 30.4 | M13H2000 |KIT01008.002 (Gr.1)
M{M|2|N|A[(1)||2]2]|90|24]185|142|247| 150 | 230Vac50Hz |54 |F |Si|20-25 61000900 | M8x21 [40.4| M14L2000 |K|T01008.007 (Gr.05)
MIM|2|N[B|(1)||2|2] 90 |24]185|142|272| 220 | 230Vac50Hz |54 |F |Si|20-25|61000900 | M8x21 |40.4| M14N2000 |KIT01008.003 (Gr.1)
_ KIT01008.013 (Gr.05)
MIM|2|P|A|(1)]|2]|2]|100|28|210|155|310| 3.00 | 230Vac50Hz |54 |F |Si|25-32 |61001000 | M8x28| 75 | M15P2000 KITO1008.004 (G 1)
M| M LIA[(M)]|[2|4] 71 |14]148]115|208| 025 | 230Vac50Hz |54 | F |Si|20-25 | 61000700 | M6x20 | 19.5| M12D4000 |¢iT01008.006 (Gr.05)
M|M L|B|(1)||2]4]71|14]148]115|208| 037 | 230Vac50Hz |54 |F |Si|20-25 61000700 | M6x20 |19.5| M12E4000 |KITO1008.001 (Gr.1)
M[{M |4 |M|A[(1)[|2]4]|80|19]170]|126|234| 055 | 230Vac50Hz |54 |F |Si|20-25 61000800 | M6x20 [30.4| M13F4000 |K|T01008.005 (Gr.05)
M{M|a|M|B|(1)]||2|4]| 80 |19|170|126|234| 075 | 230Vac50Hz |54 |F |Si|20-25 | 61000800 | M6x20 |30.4| M13G4ooo |KIT01008.002 (Gr.1)
M{M|4|N|A[(1)[|2]4]|90|24]185|142|247| 110 | 230Vac50Hz |54 | F |Si|20-25 [61000900 | M8x21 40.4| M14H4000 |K|T01008.007 (Gr.05)
M{M N|B[(1)]||2|4]90 |24|185|142|272| 150 | 230Vac50Hz |54 |F |Si|20-25 61000900 | M8x21|40.4| M14L4000 |KIT01008.003 (Gr.1)
_ KIT01008.013 (Gr.05)
MIM|4|P|A|(1)]|2]4]100]28|210|155|310| 220 | 230Vac50Hz |54 |F |Si|25-32 | 61001000 | M8x28| 75 | M15N4000 KITO1008.004 (Ge1)

()= Approximate dimensions

48 IE/MC-6AC/00-2017



BREVINI
Sect. VI - AC Motors g5 BREVINI
==

|H Adapter: supplied with the transmission kit
T Nelein i A
[m]
] — '
a = = ]
- L1 o
Three-phase motors 2-4 Poles - 230/400 Vac 50Hz - Version B14
Power range E B Adapter
@ D1|(D2|(H1|L1 Power Ef Screw Single Transmission kit
2| 8 g | (] ] o] W Voltage IP|IC| S3|= S| Code | UNI | L2 | Motor (for pump)
e &» S E 5931
M| T R|A[(1)]|3|2]63]11]125]95 [189| 0.18 |230/400 Vac 50 Hz | 54 | F |60% | 16-20 | 61004300 | M5x16 | 19.5| M31C2000 |K[T01008.008 (Gr05)
M| T R|B|(1)]|3]2]|63]|11]125|95(189| 025 |230/400Vac50Hz|54 | F |60%) 16-20 | 61004300 | M5x16 | 19.5| M31D2000 |KIT01008.014(Gr.1)
M| T L|A|()|[3]2] 71 |14]148]115|208| 0.37 |230/400Vac50 Hz | 54 | F [60% | 20-25 | 61000700 | M6x20 | 19.5| M32E2000 |(T01008.006 (Gr.05)
M| T B|(1)||3]2] 71 | 14[148]115]|208| 055 |230/400Vac50Hz| 54 | F [60% | 20-25 | 61000700 | M6x20 | 19.5| M32F2000 |KIT01008.001 (Gr.1)
M{T|2|M|A[(1)[|3]2]|80|19]170{126]234| 075 |230/400Vac50Hz |54 | F [60%| 20-25 61000800 | M6x20 | 30.4| M3362000 |K|T01008.005 (Gr.05)
M| T|2[M[B|(1)||3|2] 80 |19]170]126]234| 1.10 |230/400 Vac 50 Hz | 54 | F [60%| 20-25 | 61000800 | M6x20 | 30.4| M33H2000 |KIT01008.002 (Gr.1)
M| T N|A|(1)][3|2] 90 |24 |185[142|247| 150 |230/400 Vac 50 Hz| 54 | F |60%| 20-25 | 61000900 | M8x21 |40.4| M34L2000 |ki701008.007 (Gr.05)
M| T N|B[(1)]|3]2] 90 |24|185|142|272| 2.20 |230/400Vac 50 Hz | 54 | F |60% | 20-25 | 61000900 | M8x21 | 40.4 | M34N2000 |KIT01008.003 (Gr.1)
M| T P|A[(1)][3]2]100]28|210|155/310| 3.00 |230/400Vac50Hz| 54 | F |60%| 25-32 | 61001000 | M8x28 | 75 | M35P2000 |¢i701008.013 (Gr.05)
M| T P|B|(1)||3|2]112|28|225(182|325| 4.00 |230/400Vac50Hz |54 | F [60%| 25-32 | 61001000 | M8x28 | 75 | M36Q2000 |KIT01008.004 (Gr.1)
M| T R|A[(1)]|3|4]63]11]125]95 [189| 0.12 |230/400Vac 50 Hz | 54 | F |60% | 16-20 | 61004300 | M5x16 | 19.5| M31B4000 |K[T01008.008 (Gr05)
M| T R|B|(1)]|3]4]|63]|11]125|95(189| 0.18 |230/400 Vac50Hz| 54 | F |60%| 16-20 | 61004300 | M5x16 | 19.5| M31C4000 |KIT01008.014(Gr.1)
M| T L|A|()|[3]4] 71 |14]148]115|208| 0.25 |230/400Vac 50 Hz | 54 | F [60%| 20-25 | 61000700 | M6x20 | 19.5| M32D4000 | K T01008.006 (Gr.05)
M| T B|(1)||3]4] 71 | 14[148]115]|208| 037 |230/400Vac50 Hz| 54 | F [60% | 20-25 | 61000700 | M6x20 | 19.5| M32E4000 |KIT01008.001 (Gr.1)
M|{T|4|M|A[(1)[|3]4]|80|19]170]126]234| 055 |230/400Vac50Hz |54 | F [60%| 20-25 61000800 | M6x20 [30.4| M33F4000 |K|T01008.005 (Gr.05)
M| T|4|[M[B|(1)||3|4] 80 |19]170]126|234| 0.75 |230/400Vac50Hz |54 | F [60%| 20-25 | 61000800 | M6x20 | 30.4| M33G4000 |KIT01008.002 (Gr.1)
M| T N|A|(1)][3|4] 90 |24 |185[142{247| 110 |230/400 Vac 50 Hz | 54 | F |60%| 20-25 | 61000900 | M8x21 | 40.4| M34H4000 |¢701008.007 (Gr.05)
M| T N|B|[(1)]|3]4] 90 |24|185|142|272| 1.50 |230/400Vac 50 Hz | 54 | F |60% | 20-25 | 61000900 | M8x21 |40.4 | M34L4000 |KITO1008.003 (Gr.1)
M| T P|A[(1)]|[3|4]|100]28|210|155|310] 2.20 |230/400 Vac50Hz |54 | F |60%| 25-32 | 61001000 | M8x28 | 75 | M35N4000
M| T P|B|(1)||3|4|100]|28|210|155|310| 3.00 |230/400Vac50Hz |54 | F |60%| 25-32 | 61001000 | M8x28 | 75 | M35P4000 Egg]gggg;igg[??)
M| T P|C[(1)|[3|4]|112]28|225]|182|325| 4.00 |230/400Vac50Hz |54 | F |60%| 25-32 | 61001000 | M8x28 | 75 | M36Q4000
(e)="Approximate dimensions
IE/MC-6AC/00-2017 49




Sect. VI - AC Motors P BREVM;M

g S:25 Max
5.32 max
g —jgggg'og
s [E—— <
|
o 9 i
o0 N T—
(2]
S 118 (175)
<
c‘C

Single-phase motors 2-4 Poles - 230 Vac 50H:z - Special housing

Power range 3
a Power s j= Single Transmission kit Note
2 8| o W Voltage IP|IC| Service |= 5 Motor
£ &s SE
. KIT01008.126 (per pompe Gr.1) .
M{M|2[S|[A[(1)]||2]2]|71] 075 230Vac50Hz |54 | F | Light-duty | 20 |M12GY3FF.001 KIT01008.130 (per pompe 6r0.5) Without fan
— KIT01008.126 (per pompe Gr.1) .
M{M|2[S[B|(1)]|2]2(71] 1.10 230Vac50Hz |54 | F | Light-duty | 20 |[M12HY3FF000 KIT01008.130 (per pompe 610.5) Without fan
— KIT01008.126 (per pompe Gr.1) .
M{M|4[S|C|(1)]|2]|4|71] 085 230Vac50Hz |54 | F | Light-duty | 20 |M12YY3FF.001 KIT01008.130 (per pompe 610.5) Without fan
IP protection level becomes effective after installationon on power pack.
-t 1 e3:25 max
‘3.15max
‘ =1
< IEE
Y o @ -
gm0 NS | i
o | |
Q 118 - 175
o4
Three-phase motors 2-4 Poles - 230/400 Vac 50Hz - Direct fixing
Power range =
o =< Single L
§ E @ PT(‘\’/vver Voltage IP|IC| Service | = % Motor Transmission kit Note
£ &l S E
— KITO1008.126 (per pompe Gr.1) .
M|IT[2|S|A|(1)][3|2|71| 0.75 |230/400Vac50Hz|54| F |Light-duty | 20 [M32GY3FL.003 KIT01008.130 (per pompe G+0.5) Without fan
— KIT01008.126 (per pompe Gr.1) .
M{T|2[S|B[(1)]|3]2]|71] 1.10 |230/400Vac50Hz|54| F | Light-duty | 20 |M32HY3FL.001 KIT01008.130 (per porpe 610.5) Without fan
_— KIT01008.126 (per pompe Gr.1) .
M|IT[4|S|A|(1)][3[4|71| 075 |230/400Vac50Hz|54 | F |Light-duty | 20 [M32GY3FL.002 KIT01008.130 (per pormpe 610.5) Without fan

IP protection level becomes effective after installationon on power pack.

50 IE/MC-6AC/00-2017



Sect. VI - AC Motors <ges> BREVINI_

With fan Without fan
‘ ©) (i ‘ & =1
o O O o Eal
g ol = g Y Mt 095

\"JA.%.M'J‘/
118
(@154)
|‘
WU
118
(@154)
i
i

95
118 (203) || gmax

¢

95
18 (238) L max

n°4 - @9
n°4 - @9

Three-phase motors 2-4 Poles - 230/400 Vac 50Hz - Direct fixing

Power range T3

éé o PT(‘\’/vVer Voltage P lic| serice ;§§ f\;l';?:: Transmission kit Note

alaln o E
M|T|2|T|A[(1)||3|2]80] 2.7 |230/400Vac50Hz|44| F | Light-duty | 20-25|M33YD1FF.000 |KIT01008.131 (per pompe Gr.1) |With fan
M|T|2|T|B|(1)||3|2|80] 2.7 |230/400Vac50Hz|44 | F |Light-duty |20-25|M33YD1FF.001 |KIT01008.131 (per pompe Gr.1)  |Without fan
M{T|4|T|[A[(1)]|3]4]80] 22 |230/400Vac50Hz|44| F | S3-4% |20-25|M33NF1FF.001 |KITO1008.131 (per pompe Gr.1) |Without fan
M| T|4|T|B|(1)]|[3|4(80| 2.2 |230/400Vac50Hz|55| F | S3-4% |20-25|M33NF4FF.000 |KIT01008.131 (per pompe Gr.1) |With fan
M|T|4|T|C|(1)||3|4]80] 2.2 |230/400Vac50Hz|44| F | S3-4% |20-25|M33NF1FF.000 |KIT01008.131 (per pompe Gr.1) |With fan
M| T|4|T|D|(1)||3|4]80] 3.0 |230/400Vac50Hz|54| F |Light-duty |20-25| M33PF3FF.000 |KIT01008.131 (per pompe Gr.1)  |With fan

IP protection level becomes effective after installationon on power pack.

_l -' 1=
© D
g ' \ | —
Z V 7 ] L — §
1 oo B —1
89§ e S ,
N )
o g ? N
8 95
~ _ 118 _ (280) _max
Single-phase motors 4 Poles - 230 Vac 50Hz - Direct fixing
Power range E B
@ =S Single L
z 8| o Power Voltage IP|IC| Service |2 S Motor Transmission kit Note
=|°o|.N kw g 2
- i-"K] o

With fan
Start torque 13Nm

N
=
N
ol

1.8 230Vac50Hz |44 | F | Light-duty M14MF1FF.001 [KITO1008.131 (per pompe Gr.1)

<
=
FS
<<
>
=
N
~
©
S

M{M[{4|V|B|(1)||2]|4]90] 30 230Vac50Hz 55| F | S3-7% |20-25| M14PFAFF.000 (KIT01008.131 (per pompe Gr.1)  |With fan

IP protection level becomes effective after installationon on power pack.

IE/MC-6AC/00-2017 51



Sect. VI - AC Motors P BREVm;m

(M[=]*]*[*[®[r] Motororientation

Connector box position on power pack.

Do not use “orientation 1"
with blocks.
Std

©

(©]
=[5

w

N
on
Y

52 IE/MC-6AC/00-2017



BREVINI

Motion Systems

Sect. VIl - Transmission kit DC motors RaNs

Transmission kit (only for motors on the catalog)

Type
End section VIl

Specify the transmission kit whether you requested the joint and
accessories assembly (without motor).

Transmission kit

*%
Code Pump L g For DC motors -i1
Q
KIT08019.027 | Gr.05 | 527 | 14 GA (350 W - 80 - Page 42) ==
0 GC (700 W - @ 80 - Page 42) LY
GB (400 W - @ 80 - Page 42)
KIT08019.026 | Gr.1 | 36.6 | 14 GD (800 W - 0 80 - Page 42)
Transmission kit
*¥%
Code Pump L g For DC motors
&
AA (1500 W - @ 115 - Page 43) ®
KIT08019.028 | Gr. 05 | 645 | 14 EN (1600 W - @ 115 - Page 43) Q__
w2 AB (2000 W - 115 - Page 43) _'[}"—:==L=' I
ES (2200 W - @ 115 - Page 43) @
KIT08019.025 | Gr.1 | 482 | 14 GN (1600 W - @115 - Page 44)
GP (2200 W - @ 115 - Page 44)
-
T/

Transmission kit
*% i
Code Pump L g For DC motors

e

GJ (3000 W - @ 125 - Page 44) L
FB (3000 W - @ 125 - Page 44) o

28.5

03 || KIT08019.029 | Gr.1 28 | 20

Note: in ventilated motors (accessory “D” page 44) the transmission is included
in the kit ventilation

IE/MC-7/00-2017 53



Sect. VIl -Transmission kit AC motors

BREVINI

Motion Systems

Transmission kit (only for motors on the catalog)

Type

End section VIl

Specify the transmission kit whether you requested the joint and

accessories assembly (without motor).

N
o
~

[

@28

[

“Z2" : dimension of the coupling side motor

Transmission kit For AC motors
*% ; Page
Code Pump | L | @ | L1 | Z ||Ref. Size
KIT01008.008 | Gr.0.5 | 16 | 14 | 495 |62.7
63
1R R (B14) 49
KIT01008.014 | Gr.1 |195| 20 | 30 |428
x Transmission kit For AC motors Paae
Code |Pump| L | @ | L1 | Z ||Ref.| Size 9
KIT01008.006 | Gr.0.5 |36.1| 14 | 265 | 42 48
71
1L L (B14)
KIT01008.001 | Gr.1 [195| 20 | 265 | 42 49
x Transmission kit For AC motors Page
Code |Pump| L | @ | L1 Z | Ref.| Size 9
KIT01008.005 | Gr.0.5 [36.1| 14 | 38 | 53 48
80
™ M (B14)
KIT01008.002 | Gr.1 [195| 20 | 38 | 53 49
o Transmission kit For AC motors Pane
Code |Pump| L | @ | L1 | Z ||Ref.] Size 9
KIT01008.007 | Gr.0.5 [36.1| 14 | 455 | 63 48
90
1N N (B14)
KIT01008.003 | Gr.1 [195| 20 | 455 | 63 49
o Transmission kit For AC motors Pane
Code Pump | L | @ | L1 | Z ||Ref. Size g
P KIT01008.013 | Gr. 0.5 [52.7| 14 | 57 |815 o 100-112 48
KIT01008.004 | Gr1 [363| 20 | 57 |815 B14) | 49
e Transmission kit For AC motors Page
Code Pump L /] Ref. Size g
KIT01008.130 Gr.05 53.9 14 Al
18 S (direct 50
KIT01008.126 Gr.1 379 14 fixing)
x Transmission kit For AC motors Page
Code Pump L /) Ref. Size 9 O
80-90 T
1T || KIT01008.131 Gr.1 45 20 TV (direct fixing) 51 o

I_AL_I

54

IE/MC-7/00-2017



Sect. VIII - Blocks and CETOP valves

DANA

BREVINI

Motion Systems

Standard blocks

Mounting position

Accessory

MC..  [J]*]wo]

Blocks mounting on horizontal power pack

Separation line

In the order confirmation the code of the “Blocks and CETOP valves”
will be converted into a type Jxxxx (xxxx = sequential number).

The blocks mounting kit (interface 90°, heighten) is included on the
selection code (see “Mounting kits “table page 58).

o]

LJ]A] J[B]
- Db4 © @] ©)] [©
?ﬁi 41008000000 2 (Soloflo]  (sto0e001.000)
% 0P : 000 T (2181819
i | o L
| o
paguwiy ~=
TIRST7R777RS RS TTRSTIRSTRS

Jlc]
0 2 (91006001.000)
9'. Q/|\Q/|Q)|\Q)
3 19191812 (91006000.000)
— i O { - —_
|| O
yaNway
TS 77777

Blocks orthogonal to the axis
Except AC motors ref. size M-N-P

Blocks orthogonal to the axis with
heighten
For AC motors ref. size M-N-P

Blocks parallel to the axis with
interface 90°

Except AC motors ref. size P

Blocks parallel to the axis with
heighten and interface 90°
For AC motors ref. size P

Blocks mounting on vertical power pack

The blocks can not be mounted with motors oriented in position “1” (DC motors, see page 46. AC motors, see page 52).

o]

. Q/\Q/\Q/N\Q)
hseatiiiiiki

TIS7777 78S

LJ[A]

96

I
Jﬂmﬂ[oooo
©0)\0)\0/|\©

j o) POO@
o

(91006000.000)

J[B]

(91006001.000)

E 140.5

[
©
0)(0)

@ @ @ ©

(91006001.000)
(91006000.000)

Blocks orthogonal to the axis
Except AC motors ref. size M-N-P

Blocks orthogonal to the axis with
heighten
For AC motors ref. size M-N-P

Blocks parallel to the axis with
interface 90°
Except AC motors ref. size P

Blocks parallel to the axis with
heighten and interface 90°
For AC motors ref. size P

The blocks can not be mounted with motors oriented in position “1” - DC motors, see page 46. AC motors, see page 52.

IE/MC-8/00-2017

55




Sect. VIII - Blocks and CETOP valves BREVINI

Motion Systems

Block type

Accessory

Pressure relief valve setting on “A” line

Pressure relief valve setting on “B”line
CETOP valve
End section VIII

IMc..Jx00) | ** [w00) | () | () [reer]-

| Repeat for each block (max.5) |

[ * oo ) | ) |/*/]- Blocktype
**1(00) | (..) (..) || Description Code Drawing Scheme
A1 | (00) | (D) (0) || Middle parallel - Lateral ports G1/4" 91006002.000 P1 T1
A } ; B
I
A2 | (00) | (D) (0) |[|Middle parallel - Lateral ports G3/8" 91006003.000 ) T
B1 | (00) | (0) (0) || Middle series - Lateral ports G1/4" 91006006.000 P1 T1
A B
I
B2 | (00) | (0) (0) || Middle series - Lateral ports G3/8" 91006007.000 [ T
C1 | (00) | (0) (0) ||End - Lateral ports G1/4" 91006004.000
€2 [(00)| (0) | (0) ||End- Lateral ports G3/8" 91006005.000 P T
D1 | (00) | (0) (0) \é\gi;tll"pressure gauge connection - Lateral ports 91006008.000 P1
A B
D2 | (00) | (0) (0) \é\gi;g"pressure gauge connection - Lateral ports 91006009.000 5 TI

56 IE/MC-8/00-2017



BREVINI

DANA
Sect. VIl - Blocks and CETOP valves
[ * Joo| () [ ) |7**/|- Block type
**1(00) | (.) (..) ||Description Code Drawing Scheme
P1 T1
With pilot check valve on "A” port
E1 (00| (O | (0) || ermt ports G- P 91006010000
With pilot check valve on "B” port
E2 | (00)| (O | (0) || 2iermports 61y P 91006011.000
With pilot check valve on "A” and “B" ports
E3 (001 (0) | (O | 2erm pois Gse P 91006012.000
With pressure relief valve on “"A” port
(A) 0 Setting 35+ 90 bar - Lateral ports G1/4" 91006013.000
With pressure relief valve on “"A” port
F1.1(00)| (B) 0 Setting 75+ 190 bar - Lateral ports G1/4" 91006014.000
With pressure relief valve on “A” port
() 0 Setting 160 + 290 bar - Lateral ports G1/4” 91006015.000
With pressure relief valve on “B” port
0 (A) Setting 35+ 90 bar - Lateral ports G1/4" 91006016.000
With pressure relief valve on “B” port
F2 | (00) | (0) (B) Setting 75+ 190 bar - Lateral ports G1/4" 91006017.000
With pressure relief valve on “B” port
(0) (C) Setting 160 = 290 bar - Lateral ports G1/4" 91006018.000
With pressure relief valve on “A” and “B”
(A) | (A) Setting 35+ 90 bar - Lateral ports G1/4" 91006019.000
With pressure relief valve on “A” and “B”
F3 | (00)| (B) | (B) Setting 75+ 190 bar - Lateral ports G1/4" 91006020.000
With pressure relief valve on “A” and “B”
() (€) Setting 160 + 290 bar - Lateral ports G1/4” 91006021.000
Block No.13 (CRPO4 valves to be ordered sepa-
G1 | (00)| (0) (0) || rately, see catalogue code. DOC00044) 91006022.000
Lateral ports G1/4"
K1 | (00) | (0) (0) || End - Hand pump 91006023.000

IE/MC-8/00-2017

57




Sect. VIl - Blocks and CETOP valves gana> BREVINI

Motion Systems

Mounting kits
Mounting kit: blocks For No. blocks Code
1 17070013
2 17070015
Mounting position 0-B-C
3 17070017
4 17070019
1 17070014
Mounting position A 2 17070016
(with heighten) 3 17070018
4 17070020
Mounting kit: interface 90° Code
Mounting position B 17070022
Mounting kit: interface 90° with heighten Code
Mounting position G 17070023

The blocks mounting kit (interface 90°, heighten) is included on the
selection code (see mounting position, page 55).

connectors supplied
with the valve (1)

“ loo)| () | () [+ cETOP3valves
Spool 7 Screw kit for valve
% %%
VI" i Voltage Code Type | Mounting Scheme mounting
/000/ Without valve
/001/ 24VDC (M) | ADC3E01CMO01 A B
MA >< L ITh Thava
01 C [a 17l ¥\ b]
1002/ 12 VDC (L) ADC3E01CL0O1 PLT
/003/ 24VDC (M) | ADC3E02CMO01 A 1B
02 C MA >< LT T
la Y b
/004/ 12 VDC (L) ADC3E02CL001 PUT
V60513015
/005/ 24VDC (M) | ADC3E03CMO01 A, B
03 C MA >< L4]h [hvv
(a T Y\ b
/006/ 12 VDC (L) ADC3E03CL001 PTTT
/007/ 24VDC (M) | ADC3E04CMO001 A B
MA R >< MA
04 C B 1 b
/008/ || 12VDC(L) | ADC3E04CLOOT P

1 = Valves supplied with connector. Without connector see accessories page 59
2 = More details, features and performances, see catalog Dana Brevini “Valves and Electronics” code DOC00078

58 IE/MC-8/00-2017



Sect. IX - Accessories BREVINI

Motion Systems

Accessories (optional)
First accessory
Second accessory

* || Description Drawing Code Note
All motors are compatible
except orientation / 3
Kit Tanks compatible
Standard foot, (galvanized sheet steel) | (except for orientation / 3)
G thickness 2.5 mm (unassembled) (foot and screws). S**A
' 17010021
S**B
S*¥*C
S*¥*G
S**L
B Non-removable red plastic plug for pressure Plug:
relief valve (unassembled) 60309200
For motors:
Kit M2EN
C Protection device for DC motors (protectin, nut, MA4ES
(supplied assembled) tierods, washers):
17010048 With blocks, please add the
block code 91006000.000
O
All motors are compatible
except orientation / 3
Tanks compatible
Kit (except for orientation / 3)
High foot, (galvanized sheet steel) thickness C | S*FA
D 2 mm (unassembled) (foot and screws). S**B
17010053
S**C
S**D
S**F
S**G
S**L
A
Collar:
25000300
E Collar in welded sheet steel, thickness 2 mm S
(unassembled) g Tank fixing kit
(screws and 0-Ring):
17010086
Y
F || Without valves connectors

IE/MC-9/01-2017 59



BREVINI
Exa m p I es Motion Systems
Examples with MCA endhead
@ ®
o] [or | MCA | 1 [A1]A | 2DAAA | 3FBC[-03)-| ..
T _[I] T1 7T Cavity| Code |[Description Page
| | i 1 |Thread ports PT G3/8" 1
| l Pressure relief valve with check
2DAAA ! Al valve (15 = 50 bar) with screw 12
and detachable closing, standard
setting 50 bar
1R A Standard check valve 13
Piloted solenoid valve normally
2 | 2DAAA |closed, without emergency. Voltage 15
12VDC
3 3FBC Unidirectional flow control valve 18
compensated
] Combinations plugs on ports
P-T 03 (P=open ; T=closed) 2
- End section —
ImcA | o |AT]A]2TE [3TN]-00]-| .
Cavity| Code |Description Page
0 Thread ports P-T G1/4” 1
(blocks interface)
Pressure relief valve with check
. A1 valve (15 = 50 bar) with screw 12
and detachable closing, standard
setting 50 bar
1R A Standard check valve 13
2 2TE  |long plug 3/4 16 UNF - G1/4" 16
3 3TN |Plug 19
pT -00 Comblnat.lons plugs on ports 2
(P=open ; T= open)
- End section —
Examples with MCB endhead
@ ®
McB | 1[B1(80)| A |2cA | 3TJ/G [-03]-| ..
| e T r "1 "
i _L’El | Cavity | Code |Description Page
. . - 1 Thread ports P-T G3/8" 11
| | Pressure relief valve with check
8T s 0 2c8 1 B1 |valve with screw and detachable 12
! @ | closing, special setting 80 bar
I I 1R A Standard check valve 13
' Lever operated valve without
@‘l— | 2 2CA microswitch 15
A1 A
! "Ej, Om— | 3 | 3196 Zlggi/?ii flow control valve 20
| .
I ——
X | p.T 03 Comb|nat.|0ns plugs on ports 2
| | (P=open ; T=closed)
| ! - |End section —
== j
|

60






<oani> BREVINI

Code DOC00084 - Rev.03

Dana Brevini S.p.A.

Via Luciano Brevini 1/a
42124 Reggio Emilia

Tel. +39 0522 270711

Fax +39 0522 270660
www.dana.com/brevini

info @brevinifluidpower.com

SEM G
ST Ry

\ﬁ

1SO 9001

3

QUagy

\._ out®

Motion Systems



